INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions. Answers are
to be given on the separate answer-sheet.

Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writing your Seat No. get it ascertaine from the Centre Conductor. Please see that
no block is left unfilled and even zeros appearing in the Centre Code and Seat No. are
correctly transferred to the appropriate blocks on the booklet and on the answer sheet.

Example :

CENTRE CODE %= w#%di®

SEAT NO. s #11%

10.

For all subsequent purposes your Centre Code and Seat No. shall remain the same. Centre
once alloted will not be changed

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

Begin with the first question and keep on trying one question after another till you finish.

If you do not know thz answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you have
left in the first instance and try them again.

Since the time alloted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

Remember you have to mark on your answers in “Mental Ability Test” answer-sheet
only. '

Answer to each question is to be indicated in thc answer-sheet by encircling with black
pen provided to you in the appropnate number of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

Do not write anything except Centre Code, Seat No. and rough work anywhere in this
booklet.

Now turn to the next page and start answering the questions.
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| Mental Ability Test |

R. T&72 ] Find the odd term.

b G0 SRR e @) JIKMNX . 1, 12 15 =4
(3) GHJKR Y/-g-f &g \/(4)/IJLMT M{ 5 3. 2 -::_I

2. (1) CEGI8 (2) KM0O42
J}KG@N (4) RTV63

Direction : In the following questions there is a specific relation between the first
and the second figure. The same relationship exists between the third and the
- fourth figure which will replace the question mark. Select the correct figure from

the alternatives given below each question.
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6. ABCDEFGHIIKLWWVUTSRQPON
(f

From the above letter series find the letter which is at the 6th position to the right side
of the letter which is at the centre position of the letters which are at the 11th place form

yand 14th place from the right.
u . (@F

)Y (4) L

wrection : In the following question there is a specific relation between the first and
second term. The same relationship exist between third and fourth term. Understanding
the relationship find out the correct alternative to replace the question mark.
a3

25:100:: 81 :?

(1) 648 (2) 468

(3) 864 (4) 684
Direction : Find the odd figure.

)
)
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[Q. 11 to 14 :|Direction : In each of the following questions write which term in the sequence

11.

12.

13.

replaces the question mark.

W e Lo

X =
13, 23, 43, 89, 163, 2

(5
| aysr |

$
4
R

(1) 326 323
3) 321 (4) 318
— l"u—l ,i,-,—;‘:j 2 G—E7r31

12, 15, 21, 24, 30, 33, 2, 2

N5 8w Wi,

(1) 36, 41 @) 37, 42

3) 38, 47 4 39, 51

16, 40, 100, 250, ? -y

(1) 575 @62 SR

@) 425 @) 525 ;,/-r(/_@‘e i
4 7% bV S
L 75, ? £ v
£ 2.9 /

(2) 93 62
(3) 110 4) 117 "

/ -
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[Q. 15 to 17 | Direction : The adjacent figure is folded to form a cube. Observe the figure and
answer the following questions.

Ale
A
M
Y14 _
15. Which of the following symbol will not occur adjacent to e?
K ' @8
(3) A ) (CR"
16. Which of the following symbol will be on the opposite surface of the symbos A ?
(1) A : 2) y | |
(3) 8 (4) p

7. Which of the following figure obtained by folding the paper to form a cube ?

D ® 8 9 3

[Q. 18 & 194] Direction : There is a specﬁ' C relatlonshlp berween the numbers that are given
in the following figures. On the basis of the relationship choose the correct

? alternative to replace the question mark.
© m_l 1989 )

(1) 210 (2) 266
(3) 288 | (4) 318




7 5
(1) 473 (2) 623
(3) 389 (4) 584
[Q. 20 & 21 :|Direction : Choose the mirror image from the alternatives given for the given
question figure.
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[Q. 22 to 24 :| Direction : Observe the arrangement of numbers that is given below. There is a
specific rule in that arrangement. Study that rule carefully and choose the correct
alternative to replace the question mark. :

104
8|85 |64
13
22. 154 M @) 13
141221 [196 3) 15 4) 17
?
23. 315 (1) 125 , ' (2) 90
15 261 |? (3) 105 - M
21 | ,
24, |2 (1) 33 8L
3139 (9 (3) 243 @) 42
27

[Q. 25 to 27 | Direction : In the following questions there is a specific relation between the first
and the second term. The same relationship exists between the third and the
fourth term. Understanding the relationship find out the correct alternative to
replace the question mark.

25. FILM : ADGH : : MILK : ?
(1) ADGE ) E
(3) HEGF HDGF




—| =
Mlc\
— | O
~

16
O 7

27. ?: DURXQG : : POLICE : SROLFH ;
(1) ARMOUR | LMUND 3
(3) GROUND (4) SHOULD N

[Q. 28 to 30 :| Direction : Meena, Sarika, Geeta and Neeta are four friends. They like different

flowers. Geeta and Sarika like Marigold. Except Meena all the friends like ‘Jai’

Meena and Sarika like ‘Champak’ and ‘Mogra’. Geeta likes all the flowers

- except “Mogra’. Neeta does not like only ‘Marigold’. Meena likes only two
types of flowers then

28. Who likes all types of flowers ? | Heg = thy }J""j
(1) Neeta ¥ Sarika Lom —ﬁ.tlé:% "

cee
(3) Meena (4) Geeta Dee — M‘Maa 4 X
29. Name the type of flower, that all the friends like ?
" (1) Marigold (2) Mogra
3y Champak (4) Jui
30. Who do not like ‘Marigold’ ?
(1) Meena and Sarika ~ (2) Meena and Geeta
J})’ﬁeena and Neeta @ Sarika and Neeta
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made by joining some cubes of size

[Q. 31 to 33 :Direction : the following, figure is
i { x 1 x 1 unit to each other. Outer surfaces of the figure are painted. Observe
the figure and answer the questions by choosing the correct alternative.

31, Find the maximum qumber of faces of a cube that may have been painted.

Jy{s @) 4
(33 “) 2

3. Find the number of cubes having no face

@1

(1) 0
s @3

painted ?

W N S—

-

to form the given figure ?

33. How many small cubes are used
M (2) 48
_ (4) 46

(3) 52
/ In a certain code language
3Ix2=29; 4 x5=74,
7x3=58; then, 6 x8=7
(1) 134 (2) 118

(4) 132
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35,

In a certain code language
11+5=36;

33+7=282; then ,

(1) 112

3y 136

22 +6=158 ;

55+9 =2

) 163

() 124

[0 36 & 37 Direction : In each of the following questions the question figure change in a

36.

3

“

N

KX

Answer figure

X
4

7
@)

3) ‘/@f
Question figure .
x> ole ¥ 9 Y
o s i
o < o s &
Answer figure
<+ X OIS |5
<h 04 d ] L S I
L e

particular order. Decide which figure from the given alternatives will replace the
question mark. :

Question figure

NTS-MAT-18




38. 1In the following question there is a specific rule between the letters and the numbers in
cach horizontal row. Identify the rule and choose the correct alternative to replace the
question mark.

AD 17 39 CF

BP 258 108 HJ

SANGHE ' 7 - ? LM
(1)9,29 (@) 18,210
(3) 179, 239 . (4) 203, 181

-

39. Choose the correct alternative to replace the questions mark.

D H M 7| L C N U

K | M[x R |[B|P s |G| x ol2] w

G P| E F G I A B
COH @1

3)7 4) K

[Q. 40 & 41 :]Direction : Ajit walked 5 km. East from A. After turning left he walked 3 km.
* Then he turned in South - east direction and walked 5 km. Then he turned west
and walked 4 km. Finally he turned left and walked 12 km. Then | Y (4

40. How far Ajit is from his original place ? 2 I
13 km 2) 17 km :

(3) 18 km : (4) 7 km
41. Ajit is facing which direction now ? s

(1) East A2) South

(3) West _ (4) North

‘;'I|I.Ii‘T“,'I i :|! I|'|]'l“'|l_lp] || | '! |— m _I-_ ' I _' ] ]

NTS-MAT-18 | X | M5]

V.



[Q- 42 & 43 ] Direction : In the figure given below a transparent square shaped paper is folded
along the dotted lines. Which figure will be obtained 7 Find the correct figure
from the alternatives given. .

42. Question figure
X
\J
Answer figures -
S 5
@y et 3) @
43. Question figure L)
! . :
Answer figures
) 2) vG) 4) ke
[Q. 44 to 47 | Direction : In the follwing questions choose the correct term that will replace the
- question mark. :
AYC, EUG, JPL, CWE, ?
& (1) HRJ . (2) IQK
(3) JPL (4) KOM

[NTS-MAT-18 [ X [M35]




rl’___ — ‘:___f_l;_______—:________________: — ]

.| 45. NTS, OUT, PTS, ?

lll? || . (1) QWV (2) QRS

| (3) QTP S tal

.f 46. AMZN, BLYO, CKXP, ?

| () DQIW (2) DIWQ

| (3) DIWR (4) DWJQ
| 47. IJBY, NIV, SOS, YTP, ? ‘

} (1) EVM | (2) BVG

| (3) FYL * | (4) FXM

| [@%8ic 50 Direction: Observe the following pyramid of letters and decide which alternative
il | | will be in place of question mark in each of the following question.
il gy .I.
I \q n e 941
| |
['

j C

z 48. acdj ;7 : eilt : ehng -
| el @i Qs @b

49. vihx :uwxt::?:pazq -
(1) abde \,gzﬁdez (3) dbaz (4) azed

. 50. jkﬂjt/:/g_ﬁﬁngq -+ ilsmis : ?
' (X) hormhr (2) honmr ~ (3) (4) hrmnhn




5

[Q.56 & 57 :] Direction : In each of the follow
will replace the question mark.

A 2

/mél[AOD :

s6. AOOD oo A . o®

- m®aAaDoO
3)@00A (4) @®nAa0
57 ccnfoh , Aecnf® , Brocnf, 7 A
(1) fOAnc (2) nfoAx
_@) forecn (4) norecf
£ the ages of Ramesh and Suresh was

[Q. 58 & 59 {Direction : Ten ye

t«l :'.Sd.{'}'en years hence
58, Find the present age of Ramesh ? i) b
1y'14 years (2) 10 years /@
(3) 40 years (4) 24 years |
59, How old was Suresh ten years ago ? A
(1) 9 years VKZO years
(3) 40 years (4) 30 years

2 =

ars ago the ratio ©
the ratio of the

ing questions write which symbol in the sequence

irag’és'wiﬂbeB:Sthcn

[ 30 of 52|
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[Q. 60 & 61 | Direction : In a queue, Suneeta is at the tenth place from front. Subhash is at

25th place from behind. Gargi is standing at the central place between Suneeta
and Subhash. There are 50 persons in the queue. Then

60. Gargi is standing at which place from front ?
(1) 20 2) 19
m 4) 17

61. _Gargi is at wh’jch place from behind ? AR T T e “]“H " ' s o ‘
(Al sl e @32

= i et - 4) 34 . _|n||!l”.
“4) g

Q. 62 & 63 : Direction : Choose the correct water image from the given alternatives for the
given question figure. '

62. Questioq figure " Answer figures
| [ =]
= @ @ (3) )
63. Question figure Answer figures

@ 3) ()

[Q. 64 & 65 :|Direction : In the following questions in every row the numbers outside the
bracket are related to the number inside the bracket in a specific manner. From
the given alternatives choose the number that will replace the question mark.

64. 37 (46) 60
121 (74) 158
318 (?) 269 :
(1) 184 (2) 248
3)98 4) 79

s [ o]

4



65. 35 (36) 73
64 (38) 27
43(27)58
(1) 39 2) 52
(3) 101 @) 119

[Q. 66 1o 68 :| Direction : In the follov_ving questions a specific group of terms is given. From
the given alternatives, find out the correct term that matches the given group.

66. IGDA ZWTQ UROL

(1) LIGD (2) SPMK

(3) LIFC (4) NKHF
67. AGM ~ DJP - HNT

(1) GNT ) | (2) EKP

3) 10V (4) KQW
68. BFYU GKTP FJUQ

(1) AEZW (2) DHWS

3) IMRO (4) CGXS

[Q. 69 & 70 | Direction : Find the number of triangles in the following figures.

69. ‘ | g %

(1) 16 (2) 32

37 40 | (4) 80

INTS-MAT-18 [ X [ M5] |




ing the code, find out the correct code language for
the word given in each of the following questions.

PACK =(1) TEGO -
| (2) MXZH

3) VFGO
(4) QDHR

71. RAIN = NXFK

72. CROP = DUTW

73. SAND = WERH A

[Q. 74 & 75 | Direction : After folding a Square piece of paper, it appears as shown in the

question figure. The paper when unfolded will look like as shown in one of the
b alternatives. Select the correct alternative.

(1) (2) 3) )

[NTS-MAT-18 | X [ M5 SRR T




ey @ (3) “)

[Q. 76 & 77 | Direction : A rhythmic arrangement of alphabet is given. The missing alphabet
' appears in the same order in one of the alternative answer, choose the correct

alternative.
76. o.bcgab caabc
&465" (2) bab
(3) aba (4) aac
77. abbpba ababb abrab
(1) abab ' (2) ccac

(3) aabb L/@)”;bha

[Q. 78 to 80 ] Direction : The following figure is made by arranging some cubes having each

side 1 unit. The figure is painted from all the sides. Observe the figure and

[NTS-MAT-18 | X [ M5]|




78. How many cubes are there at the base level ?
(2) 24

(1) 18
(4) 216

{/Laﬁ’iify
79. How many cubes are there having three faces painted ?
T

(1) 8
(4) 20

(3) 15
80. How many cubes are there having no face painted ?
@2 .

1
‘ (1) 3 _ | _
s l.}5‘)4‘/
[Q. 81 & 82 | Direction : In the given question figure a complex figure is given. Find out
which of the figure given in the alternatives is hidden in the complex figure ?

Answer figures

i
81. Question figure
; (D 2
| L % Ry @
{ 82. Question figure Answer figures
* T (1) ﬁ (2 %\

N Xg

3) X (4)>>

[NTS-MAT-18 | X | M5|




[Q. 83 to 85 : Direction : In the following questions a specific group of numbers is given.
From the given alternatives, choose the correct alternative that matches the given

group.

83. 78 26 54

(1) 52 (2) 6

3)-6 - (4) 31
84. 738 4930 2210 ‘

(1) 1341 (2) 6877

(3) 222 (4) 518
85. 41 21 69 ' -

(1) 89 s (2) 87

(3) 107 (4) 105

[Q. 86 & 87 :|Direction : In the following questions symbol are given in column I and are
coded in coloum II. But they are not arranged according to the order of symbols
in column L. Find the code language and choose the correct alternative to answer
the questions. ' s

Column 1 Column 1T
) (1) P 378
b . [ 459
(] B 275
M [ W g4
86. (e} i) Bl =2
(1) 143 @) 237

(3) 549 (4) 943

[NTS-MAT-18 [ X [ ™3] '
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88. Observe the following code language and choose the correct alternative to answer the

question.
Temers ] E| L] O] A| U| | T| B} 8|3
Digit > |o|8|2]7]6[3[4]5]9]!
947580 = ? ¢ A PLE
(1) SATPLE V(/zﬁrAPLE
(3) STALPE (4) SATLPE

[ Q.89 & 90] : Direction : A square place of paper is folded and cut at specific spots as shown
in the figure. The paper when unfolded will look like as shown in one of the
alternative

89. Question figure . Answer figures

oy 05 0] °© 5 O] oo -
Iomec'joo:_ﬁo o
coO

O || o <o
n_ o M 5
1) , 3)
90. Question figure '\Q{Answcr figures

ST 4Ok

‘—’ :
\ ﬁ\ ocolre o] Q' 10,00
M 1 Ao 000 m = 2 I

| ) ® \B» ©® |

S

2y
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g venn diagram and choose tiae correct altemative'

[Q.91 to 93 :| Direction - Observe the followin
to answer the question.

Eiedel
Crkes
T2
31
e 2
a4 L—w
80

y players play only kabaddi and cricket ? 2 \747 |
@) 72 X 4 LO
= 4 __ =

A3

92. How many players play only one game ?

(1) 151 (2) 216
(3) 183 210
93. How many players do not play cricket and football ?
(1) 24 2) 58
(3) 64 (4) 72

94. In a mathematical language if A means + , (© means x, [] means— and means
= then find the value of the following expression 3 ®50 18 Q 32 A =1

1) -6 2)0 £
(§ 4) -3 \5 ‘_@4_3. :
05, In a mathematical language if < means + , + means X, x' ‘means — and — means -
then find the value of the following expression 4 = 8 -2+ 5w T=2
(1) 33 2) 23
| ek e
(3) 17 - (4) 4 q+ﬁ1$_

[NTS-MAT-18 | X | M5|
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[0. 96 & 97 "} In the following table the digits are assigned with certaiﬁ symbols. Observe them
carefully and choose the correct alternative 10 answer the c_iuestions.

Digits |9 |8 | 716 =T.4] 3 |-2 | 18
gymbol ¥ | ? ! ) %w| (| 8| # SAZNR

o6, How will you write the number 874 6 053 7

M21)(%"3 (2)!?)(%"33
(3)?1()*‘%3 (4)!‘?()"‘_%1’6

96. Which number will be expressed by the code (%! $X)A# ?
(1)47593612 (245739612
(3)47539612 445793612

Q. 98 to 100 Direction : Observe the following pyramid and choose the correct alternative to
answer the question _ =

2 3 4
ce ok T 8L
0 11 12 13 14 15 16
(7 18 19 20 21 22 ‘23 24 25
s 77028 2930 B1 32 3359 35 36
s7onAE 30 40 Al 4T AE s 4 a6 47 48 49
<051 SBh 53 540 88 56 ST 2B 5o 6061+ &2 63 64

08, 52262839 : 62363447 : : 54283041 : ?
(1) 60343245 (2) 54283042
(3) 60343244 : (4) 60463244

@

5

S AT
bt Iﬂ-;’;-‘:!.llé ulll

S |
@S—MAT—IBIX[E\E‘ ' [ 48of52]




99, 2567 : 4987 : : 7256 : ?

(2) 7489

fa (1) 7894

| (3) 7498 (4) 7948

| 100. 61820 - 82422°: 121920 : ?

| (1) 142223 - (2) 231524
'; : (3) 191220 (4) 142322
|

[NTS-MAT-18| X| M |
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INSTRUCTIONS TO CANDIDATES
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Smce the time alloted is VETY short YO
the box given under each page-
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| Scholastic Aptitude Test ;

1.  Value of acceleration due to gravity on earth is maximum at
\/a')/polés | (2) equator
(3) depth of 60 km below earth’s surface (4) height of 400 km above earth’s surface

2.  Magnetic field due to current throughaa .......... is similar to magnetic field produced by a bar
magnet.

(1) circular loop of conducting wire  (2) rectangular loop of conducting wire
\/(Zﬁlenoid _ (4) thick copper wire
3. Choose the wrong statement related to refraction of light :
(1) Twinkling of stars
(2) Oval shape of sun in morning and evening
(3) Object in water appears bigger in size
‘,ﬁ){ed light undergoes dispersion, while passing through prism

4. How much time the satellite will take to complete one revolution around the earth, if
velocity of satellite is 3.14 km/s and its height above earth’s surface is 3600 km. (Radius

of earth is 6400 km) A4 = Q.%%?_-Xl()(?e
¥ :

\

_3000S (2) 20000 S

(3) 1000 S (4) 10000 S

x=2doo O

5. Aplanet in an orbit sweeps out an angle of 160° from March - May, When it is at an average
distance of 140 million km from sun. If the planét sweeps out an angle of 10° from October
- December, then the average distance from sun is .......... : lg Ob . 14 0agl)
<Lp©,0 O°

A1) 56x10°km - \ )56 x 10° km \O e

B
. 200
g
(3) 56 x10" km y C(VL’ g 4 56 x10° km % K4HET
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(1) garaw (2) fegagame
(3)q@mm@60mm‘ (4) gedterr geewmmarA 400 km 39T

M fide s HqYy= SO FregAaTes et gomy Gasin S GEREiges TA ST G FATHT

(1) fagge ames are Feten (2) fergmares avven smuATEAr A
(3) g (4)Wmaﬁ

3. yemEITeN uEdAEeade 9% faae fraen
(1) A .
(2) gatea 7 gaiaren 38 gatar STHER SPFA 9.
(3.)ﬁrﬂuﬁﬁﬁmqmwlﬁmvmﬁ.
(4) FTEraT FEHEA STONAT @l T G R s g

4, s e a 3,14 km/s snfvr g € 3600 km I A W Uw afewEr ot
s fEdt sradt @we 7 (g B 6400 km 32

(1)2000S (2) 20000 S
(3)1000S (4) 10000 S

5. méﬁ_ﬁmmmﬁiaqq‘rcmﬁmmﬂ 140wwkma?mmﬂﬁ®m 160° FeqT =T FA
3. 7 At 7E ifeeraR & Redaw a1 S 10° FHGT A FAT S 7T AT YE A1 BrAUricT

(1) 56 x 10° km ) 56 x 10° km

(3) 56 x 107 km (4) 56 x 10® km
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6. Observing the following table, choose the correct alternative

Column I Column II

AL ; a [(i) |Image formed by concave lens

I e :
B~ e & |(ii) |Image formed by convex lens with object at 2F
C| o. £, (iii)| Image formed by convex lens with object

. ¥ s beyond 2 F :

D| & Q‘ %. g B(iv)| Image formed by convex lens with object within .

: * focal length

In Column I AB - principal axis of lens, O - point object, I - point image. Match the two

Columns.

(1) A - (i), B - (ii), C - (iii), D - (iv) \/&ﬂ' (iii), B - (i), C - (iv), D - (ii)
(3) A - (iv), B - (iii), C - (ii), D - (i) XYA - (ii), B - (iv), C - (i), D - (iii)

7. How much heat energy in Joules is necessary to raise the temperature of 5 kg of water from

20° to 100° ?
(1) 1672 KJ .
(3) 16720 J

T
3) %;

$x1x & 8

27167200 J g

(4) 1672 ] I
e

A ray falls on a prism ABC (AB = BC) and travels
as shown in figure. If refractive index of glass
with respect to air is 1.5, find Sin r

INTS-SAT-18 | X [S5 |
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Y

6. e qeare fAdgror S, Sitewr oA g qar e

ww | w11
Al = —4 e |(i) |sriedes fimmam freomd wftr
T

B|a S e |(ii) |2F siatior Gt afeds fimmart framd gk

3 s i b, o |G| 2F wetteséier et etz it fremmdt s
T

D| , & l B |(iv) | stmmden st stamader warat afyds femen
: T frregorrdt wferm

(@w 1w, AB - fimar o wier, O - wand firg, 1 - whor firg)
(1) A - (i), B - (i), C - (iii), D - (iv) - (2) A - (iii), B - (i), C - (iv), D - (ii)
3)A- (iv); B - (iii), C - (i), D - (i) (3) A - (ii), B - (iv), C - (i), D - (iii)
7. 5 kg TR QAT AreE 20°C TR 100°C s arefoar faedt sger so e s ?
(1) 1672 KJ (2) 167200 J
(3) 16720 J 4) 1672 J
T g, fewr sraen e ABC av 9Edt (AB =

BC)mﬂwﬁmmm,mm
gATATIE @A 1.5 E, Sin r e,

3 3
W7 _ @ 575
: : 2v2 -
3) —‘?— ) ~—3‘C
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9.

10.

12.

In a Helium gas discharge tube every second 40 x 10'® He* (ions) move towards the right
through a cross - section of the tube, while n electrons move to the left in the same time.
If the current in the tube is 8A towards right then n = ?
1) 3x10" ! '
£L e Llevflorgxi'cx]oq-—nf-‘ilfﬁq:
&) 3%10”
(g -4 -
40x10 “x1:€ woﬁ.i.nlacmo 19
(3) 3x107 O 19 _é'
w07 40x 0B n] =
(4) 3 x 10 : : ' 8] % IO—‘-z -n,O"Z')(lb"l‘l
- ! 8 - -
Device/devices changing electrical energy into mechanical energy is/are ...... $x% 10 et
I Electric generator JdI  Electric motor f—-
III Voltmeter ‘ IV Ammeter
(1) Iand II |
2) I and 111 o, il T SR et SRS é
» @ -40%!01 )(l'C'ﬁ\O &m%y!b':__
(3) 11, Il and TV
Myll Ha‘é"” CW _-«B--l_n) - ¥
. A convex lens produces an image of an object on a screen with a magnification of 5 When
the lens is moved 30 cm away from the object, the magnification of the image is 2. The
Focal length of the lens is R wo ' - O-2LA Ohﬁn =@
(1) 20 cm : s
e -\
(2) 25 cm __%__-_32—- 02 %10
{
3)30 Ni= 260
(& ik s < 2 P Ty
(4) 35 em e YOOV
Two plane mirrors at an angle (x”) produces 5 images of a point. The number of images
produced when x’ is decreased to (x-30)’ is 42
A= B
NSO (2) 10 x°
3) 11 4) 12 il %
A28
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9. Zelterw ary Rrgeira Feliber RSN U FHEET STweT IR 40 x 10'® He® (3mae)

mmﬁwmnmmwﬁaﬁmmwﬁﬁaﬁwmm%
8 A za®r ¥t axn =7

(1) 3x10"
(2) 3x10"”
(3) 3x10%
g
@) 3x10% T
10. fagasta ¥t T sU@T FOM IGHOT / IIHO AR/ ARA.
|l =] el
I stferx 1 Hew — T
R i J, 3 £
Il st IV 3fffex :
| Lddl =i 7
@) 1 = 1 A5 L :
) I, NI aiv %-—-’_L > '-\ 0= TJCQC‘,H*J”
) a3 -
(4) v 11 £ 'a,o+o+DA_:\)
1 (2otoyv
11. wwuﬁmwmuﬁrﬁ%ﬁﬁmaaﬁaﬁ.mﬁm 30 cm siEUgH
3T 0 aT wh fremem 2 B8R, v a P A s .
(l) 20 cm
(2) 25 cm
(3) 30 cm
(4) 35 cm

12. =9 99 Iwda w9 (x7) g2 v fagan 5 afer qaw g, s 0 $9 (-30)° 7 w9 S

(19 (2) 10
(3) 11 4) 12

[NTS-sAT-18 [ X [S5 | _




13. Choose the correct diagram (graph) showing anomalous behaviour of water.

s ¥

iz A o o UL e 00
T S e s S BN R

i e R SR Y 16 T |
temp, 10 %0 ey

(1) S

temp in °c

NE) .
B
14. In which year National Chemical laboratory Pune was established ?
(1) 1950 2 «(2) 1995 '
(3) 2005 (4) 1989

15. Which is the chemical formula of red oxide ?
mj = 5 (2) Feog

(3) FeO ' . (4) FeO,

Rissaris [x[5]



T 13, umvmmen TS smERoTen FAfeTET sndt (snewnen frast

¢ il

ey

3)

14, sty TEmafas gEmemes qOr AT GENTesE FITAT HUT | St ?

(1) 1950
(3) 2005
15. ¥z sifeurses TomfE g3 SR ?
(1) Fe,O,
(3) FeO

= -

" 45
; it

3 7] I\ - s o 'r
] i . | i <k
BRI K 8 R

spsle uplume femlfy) —

" o temp, 0 % ey

()

>

e e

;:,'-?ivamtue volyme €

e

i il e iy
gy 5

temp in %g —>

4)

(2) 1995
(4) 1989

(2) FeO,
(4) FeO,
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16. In water purification Fullerene is used as ........ .
(1) Fuel - (2) Insulator
(3) Catalyst 4) Reductant
1?.I which block elements are called transition elements ?
(1) S - block (2) P - block
(3) D - block v(4) F - block
18. What is chemical formula of rust on Iron ?
(1) Fe,0, \_(2)Fe,0H,0
(3) FeO * (4) FeO,
19. What is the percentage of Al O, is Bauxite ?
L) 30% to 70% (2) 35% to 70%
(3) 30% to 75% | (4) 70% to 75%
20. Chemical formula of lime stone is ........ .
(1) Ca(OH), , ,méo;
(3) CaCl, (4) CCl,
21. What is the condensed structural formula of alcohol ?
_ 1y~ oH (2) - CHO
(3) - COOH (4) - NH,
22. In which of the following elements does not consist. isotopes ?
(1) Carbon /m{eon
(3) Chlorine (4) Iodine
23. In which of the following ink silver nitrate is used ?

mg ink (2) Writting ink

(3) Printing ink (4) Marker pen ink

NTS-SAT-18 | X |S5 |




18.

19.

20.

23

22.

23.

(1) g (2) Fortares
(3) suw (4) groTETE
FITIT HSHIA FAFSHAT HHTHE AT AT

(1) Ta-sig (2) -z

(3) Fr-ziz (4) Tw-5iT
AGSTAT AT THEAE T ...ooce E1

(1) Fe,0, (2) Fe,0,H,0
3)FeO (4) FeO,

Sfwrgened fodt ev b ALO, s ¢

(1) 30% @ 70% : (2) 35% @& 70% -
(3) 30% & 75% (4) 70% & 75%
TS T FT oo 1B

(1) Ca(OH), (2) CaCO,

(3) CaCl, (4) CCl,
P Wi AT Fod ?

(1) - OH | (2) - CHO

(3) - COOH - (4) - NH,

FAAAST BT TAGTATAT FHATNAE ATEL.

(1) (2) Frit

(3) it (4) st

faeeT Tmgear I WIS BT ITEHA FeAT FA@l ?

(1) wearren mgwed (2) Feramomren smEweR
(3) firervan et () e e

[NTS-SAT-18 [ X [S5 |
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24. To prevent the misuse of the important commercial solvent ethanol is mixed with ........

)y(ethanol (2) Propanol

(3) Ethanoic acid (4) Propane
25. Chemical formula of cryolite is.......
(1) NaAIF ' /ﬁsmg
3)Na,AlF, (4) Na,AIF,
26. Which of the following is not Dobereiner;s Traide ?
(1) Li, Na, K ,' »2) CLL K, Cr
(3) Ca, Sr, Ba 4) Cl, Br, 1 _
27. By using only one of the two strands of DNA, mRNA is produced this process is called

Ak
(1) Transcription » (2) Translation
¢ (3) Translocation (4) Replacement

28. Identify phase in mitosis shown by : centromeres split and thereby sister chromatids of each

chromosome seperates and they are pulled apart in opposite direction.

Mphase (2) Prophase

(3) Metaphase /BQ/ Anaphase

29. If the embryonic cells are divided into two groups 8 days after the zygote formation then
there is high possiblity of formation of ..........

(1) Genetically different twin girls )Zf Siamese t\;vins
(3) Genetically different twin boys (4) Genetically different one boy.z one girl
30. Which is the sequence of four whorls of flower from outside to inside ?
_,H')ﬁa‘lyx — corolla —. androceium — gynoceium
(2) gynoceium — androceium —» corolla — calyx
(3) calyx — androceium — corolla — gynoceium

(4) gynoceium- — corolla — androceium — calyx

NTS-SAT-18_| X[$5 ' s




24,

28.

26.

27

28.

29.

30.

$9ta a1 "ewaren ftaifie grEwrr At seTeEt @ S wer e ?

(1) it (2) ot
(3) wiitém sffv @
g O ...... 3Tk

(1) NaAIF (2) Na,AIF,
(3) Na AIF, (4) Na,AlIF,
FUENF I SN PR vy

(1) Li, Na, K ' (2)CL K, Cr
(3) Ca, Sr, Ba , 4)Cl, Br, 1

DNA =1 gt amaitet uat ararar amY $67 mRNA =t Ffiedt it sa a1 aieda .......... FRUTATA.
(1) wierea (2) wrsieRoT

(3) =yrTaeT (4) wiawama=

2o Toew Rester sitecht sma. &1 Tored srafyomdt @oft ot Rwmmrda seEwr e,

(1) sreme=ar - (2) garaen

(3) wemTaET (4) geargeT

- yoTasftet Rrwmrolt ST s TR e 8 R el av . ST JUATH ERIAT A,

(1) SFT Feear P S e (2) st S

() g A g (4) o 4w T g, T
TAAHAT AT T ASATIT TAAT AGA ATRT HIOTAT HHA 30 2

(1) Freergst — St — gHT —

(2) ST — T A — P

() P —» T > T T

(4) ST - TEH - T P
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31.

32,

Sunderban sanctuary of West Bengal is reserved for which animals ?
(1) Rhino (2) Bison
3) Aiger (4) Asiatic lion

From the following which animal is warm blooded, presence of mammary glands and body
divided into head, neck, trunk and tail.

Mnguin " (2) Tortoise

33.

(3) Pigeon _ @yBat

In process of fermentation of production of wine from grapes which micro erganism is
used ? ' '

/H’Qhammyces cerevisiae ' (2) Aspergillus oryzae

34.

35.

36.

(3) Lactobacillus brevis (4) Aspergillus niger

Given below pairs proteins of produced by biotechnology and disease they are used against.
Find the odd pair. .

Proteins Produced Diseases

(1) Insulin . - Diabetes
(2) Erythropoietin - Anemia

(3) Interleukin - Cancer

(4) Interferon - Hemophilia

Which factor from the following decreases efficiency of nervous system, liver as well as

“lifespan of person.

(1) Tobacco « (2) Gutkha
(3) Alcohol \}(A Stress

Who is responsible at the district level disaster management and implementation of
rehabilitation schemes ?

(1) Chief Minister
(2) Home Minister
(3) Collector
(4) Tahsildar

[NTS-SAT-18 [ XS5 |



31. mmwmmmmmv
(1) wifénft et (2) T
(3) @ ' (4) Siferr fie

32. a@aﬂa&ﬁmwﬁmwm@mmﬂm&aﬁvmaﬁﬂ%aﬁ,nﬁ
9T 9 YT W WA IWAT.

(1) g (2) g
(3) FE (4) aeanges
33, FEAMEA AEA A9 FOATHET fhvaa giedwed Stoar gesia awEE ¢
(1) Hedmmafan e (2) Sferfsmre smsh
(3) Heeridiaw i _ (4) Sterefers A
34, et Feden wR IETER @ A o T STER qeam At Seare R S i,

wR IarE T

(1) rfer - i
(2) shititafen - affeferar
(3) g i
(4) geita _ Fewitfferm

35. it 39 PO GSHHS AV APA T FaRGEN T SrigwAr aA g = A
(1) damg (2) ez
(3) ywwtzia (4) aroraoTa

36. Ticeradm ol sraRTIATaESt @ o Frawer gismien afgeiderdt Stor sEresi swaa ?
(1) Fomdt
(2) et
3) Pt
(4) Fefomam
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37. Identify the adrenal gland from the following figure

(DA (2) B

3)C v

38. Identify the correct sequence for process of energy production from carbohydrates.

‘._f/(/r)/C-arbohydrates — Glycolysis — Pyruvic acid — AcetylCoA — Krebs cycle —
CO, + H,O + energy

(2) Carbohydrates — Glycolysis —» Pyruvic acid — Krebs cycle — AcetylCoA —
CO, + H,O + energy '

(3) Carbohydrates — Glycolysis —» AcetylCoA — Pyruvic acid — Krebs cycle —
CO, + H,O + energy

(4) Carbohydrates — Glycolysis — AcetylCoA — Krebs cycle — Pyruvic acid —»
CO, + H,O + energy

[NTS-SAT-18_ [ XS5 ]




37. wTelie IHArHT gaee WA attesa.

(DA - (2) B

3)C (4) D

38. watawia siffems 59 1 Metqvaren giedder 99T a0 e

(1) #=igs - =@ fTwer - shs o - SERIE-F-THE-A — 995 >
CO,+ H,0 +

(2) TaTEF —» WEA fqUEA —» UHERE APA —» PAGE o JAAA-F-TEET-A
CO,+ H,0 + st

(3) TEla® — wES e - FEA-B-TFEA-A —» THEAE Iy FATE -
CO,+ H,0 + 5

(4) Ttz - R wer o RSE-S-tEET-A - FeEE - TOEET AR
CO,+ H,0 + it '
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39. Identify the function of columnar epithelium
(1) Selective transport of substances  (2) Prevention of wearing of organs
St
(3) Secretion of digestive juice - (4Y Reabsorption of useful materials from urine

40. Body structure of different animals is given below. Identify to which phylum the animal
belongs

1 Long, cylindrical, metamerically segmented.

2 Triploblastic, bilaterally symmetrical, cﬁt:oelomatc.

3 They have setae or parapodia or suckers for locomotion.
(1) Arathropoda (2) Annelida

/e)ﬁaelmimhes - « (4) Mollusca

41. Who was the founder of modern Historiography ?

V_,mltair s (2) Michel Foucault
(3) Karl Marx (4) Rene Descartes

42. Identify the wrong pair from the pairs given below.

(1) Who were the shudras - History of Subaltern
(2) Stri - Purush Tulana - Feminist writing
(3) Cambridge History of India - Colonial Historiography

V(Aﬂfﬁe Indian war of Independence - Marxist History

43. The Main Office of National Film Archives of India is at ........

(1) Mumbai @) Pune

" (3) Kolkata (4) Delhi
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39.

40.

41.

42.

43,

T sty it 1 rtesa.

(1) sufas usraie a&q &t (2) sragaidt ghsr T,

(3) uramTE waot : (4) gTdter UGS 9TF 9oL,

Tt THRET T THAT JHOY Yot Hrowm qrofteara dara & e,

| @ige, deTpdl, PAEE - WEWAA Ja IRT AT

S e T i s e e

3mwmw%mwmmm

(1) dftam (2) Tert

(3) et (4) 7379
I gRE AEATET FHE BT A ?

(1) B | (2) 7w gt
(3) ®ret T 4) &
qdter St Tt St st

(1) g TR T P - dfaren ghver
(2) St gvy g - &t Tt dee
(3) Fefter feedt oifw e - qETEAaTE e
(4) = giemm 4 sife. gf=d=w - et gfvew

T feew duge (fame e stz o St o w9d

(1) #=g () got
(3) St (4) faecit

vereee B] YUEUR IME.
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44. Identify the style of the temple architecture that has been shown in the above picture ?

(1) Dravid (2) Vesara |
(3) Nagara o (4) Bhoomija

45. Who started the First English Newspaper in India ?

(1) Alen Hume (2) Sir John Marshal
_/(’Jﬁ\mes Augustus Hickey (4) Michel Foucault

46. Who is known - as the first Keertankar of Maharashtra ?
(1) Saint Dnyaneshwar (2) Saint Tukaram
'./8) Saint Namdev (4) Saint Eknath
47. Write the name of the Wooden dolls made in Maharashtra.
(1) Thaki - | , (2) Kali Chandika
(3) Gangavati (4) Champavati
48. ‘Bhilar’ - the village near Mahableshwar is famous as the ‘village of ..........

(1) Plants mks

(3) Forts (4) Mangoes

Nissiras [x]5t]




44. wHragen Foarde Afer wraae Rt stoan e e ?

45.
46.
47.

48.

(1) sfaz (2) T

- (3) (4) wfer
HrAdE afget el adHET F e A 9
(1) 3t 7w (2) =2 sita wwfe
(3) 3w st Tt (4) wrHe !

(1) s ara (2) sa g
(3) @ AreE (4) sa T
Tdl HERIETT A9 BT WSS ATEATAT HT FEOET ?
(1) =t (2) Prfr
(3) st (4) et
TR TqeAe e # e wwradt i s ?
(1) awerdt (2) g
(3) forcet (4) wid
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49.

50.

o1

52.

33

54.

33.

56.

Identify the wrong pair from the famous museums and its location in India.
(1) Kolkata - Indian Museum (2) Delhi - National Museum
(3) Hyderabad - Salarjang Museum «(4) Mumbai - The Calico Museum of Textiles

Who said that, ‘the prevailing practice of arranging historical events in a chronological order
is not right 2’

Michel foucault (2) Seamaw The Bolva
(3) Leopold von Ranke (4) George Wilhelm friendrich Hegel

Which style of architecture has been used to build, ‘Chhatrapati Shivaji Maharaj Railway
Terminus’ ?

(1) Muslim - (2) Nagara

(3) Dravid Vmgc:- Gothic
6™ January is celebrated as ......... Day. -

(1) Right to Information __(2¥Tournalist

(3) Human rights (4) Cleanliness

.......... is the birthdate of Major Dhyan Chand is celebrated as the ‘National Sports Day’ in

(1) 28 October 29 August

(3) 10 December ' (4) 14 April
Under the leadership of Socialist leader .......... women in Mumbai participated in a

demonstration which came to be known as ‘Laatne Morcha’
(1) Pramila Dandavate » (2) Mrinal Gore
(3) Gaura Devi ‘% (4) Dr. Phulrenu Guha x

Which industry is known as ‘Sunrise Sector’ of India ?

(1) Jute industry Mmobile industry

(3) Cement Industry (4) Khadi and village industry
In the year 1983, The Indian cricket team won the World Cup under the captainship of .........
(1) Sunil Gavaskar (2) Sandip Patil

(3) Sayyed Kirmani Mpil Dev
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49, sredier Rt s arhe e S s,

(1y s - g (2) Pt - v s
(3) s - e T (@) T - = ¥ mfgE it Sawerde
50. Wmmmmmwmmmmmﬁv
(1) wrer gt (2) Hrsit-z-arer
‘(3) foitdfz @7 & (4) St facdw B &t
51. Wmﬂmwﬁmammmwmmm?
(1) Hiem (2) R
(3) wifae (4) & ifr
52. éaﬁ?ﬁa&au .......... U HIF AT AL
(1) =fedt sl | (2) TR
(3) wdt 276 (4) Tz
53. WAL S AAT e o StEaw Uity FETEaR’ BUE WS HAT AT
- (1) 28 sttt (2) 29 sitre
(3) 10 fedaw (4) 14 ofrm

54. HEEA .......... Tre AgETAT AfgArar Aeo At S

(1) vt dead (2) Fome MY

(3) rEd (4) . Fwy TR
55, WEARIA BIOTE IATAT TATSH 45 FH e I ¢

(1) amr (2) A=

(3) fadz - (&) T 7 g

56. 1983 wwt svmren AgaETe wRaw fraaes e wut St ¢
(1) gite ey (2) w3ty adie
(3) woag fFEwER (4) Ffrer 3
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57 . Several attempts were made towards democratic decentralisation. One of these attempts was

the .......... amendment to Indian constitution.
(1) 71 and 72 - (2) 7_2 and 73 *
(3) 73 and 74 (4) 74 and 75

58. Identify the article of the Indian Constitution, which has established Election Commission
as autonomous body ?

(1) Art. - 314 (2) Art. - 324
_,63)/An- - 334 | (4) Art. - 344

59. Who appoints the Election Commissioner in India ? -
vﬁ’)ﬁiﬁem (2) Prime Minister

(3) Speaker of Loksabha (4) Vice President

60. Which one of the following is incorrect / wrong pair in concern with the region & the
movement raised in it ?

- (HC Nagpur - Ramoshi
/,(2) Orissa - Gond
“ (3) Maharashtra - Koli
(4) Bihar - Munda
61. Which one of the following is irrelevant to the challenges faced by the Indian Democracy ?
(1) Terrorism |
(2) Corruption
(3) Naxlism
Mronmental Degradation
62. The essence of Democracy is ...........
(1) Universal Adult Franchise.
ecentralisation of Power.

(3) Policy of reservation of seats.

(4) Judicial decisions.
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57 . WA AIBTE fab-rntorET qatd HaT T e T TSAT FEEIA e
(1) 71 1 72 2) 727 73
(3) 73 7 74 ' : 4) 743 75

58. ‘ﬁa@ﬁm’mmmdﬁ?ﬂﬁﬁ&dﬁuﬁmmmﬁm?

(1) = - 314 (2) T - 324
(3) ®em - 334 (4) T - 344
59, WA PragvE sTgEE A For T ¢
(1) Tt (2) wuriT
(3) ireeaT qHIAT (4) IoRTSTE

60. Uit yRY 7 nTHATHT T AT FTT S BT,
(1) Star ARTYT - THie
(2) sitfeam - wite |
(3) werrs, - HreA
(4) forre - e
61, “adra drwamd WA srER’ W R gew s,
(1) wEerar=
(2) werER
(3) e
(4) watawoTaT B
62. THIMEET ATHT FHIH TR ?
(1) e warimR
(2)::%%?@:&@101
(3) Thra SR o
(4)=uwra'é‘t'-rf'3‘lr';h ,
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63. [dentify the Nation which is not a Member of ‘BRICS’ - an International Orgranization ?
(1) India J;)»E@and
(3) China : (4) Russia

64. In 2005 The Indian. U.S. Civil Nuclear Agreement was signed by .......... the Prime Minister ~
of India and George W. Bush - the American President

(1) Rajiv Gandhi : (2) P. V. Narsimha Rao
/(}«)’l{. Manmohan Singh (4) Atal Bihari Vajpayee
65. ‘india has no coastline along the ........ direction :
(1) East (2) West

(3) South _,mN/orth

66. Identify the oddman out
(1) Snow . _ (2) hailstone
Ice “(4) rainFall

67. Though India has a higher national income as compared to Brazil, the per capita income of

India is lower than Brazil because ..........
M Population of India is more. ~ (2) The Population of India is less.
(3) The Population of Brazil is more. (4) The Population of Brazil and India is equal.

68. Identify the wrong statement, regarding Importance of Population .........

_ (1)-Expansi0n of trade. (2) Rapid Industrialization
(3) Tourism Development. «.—(4')’]3&‘ of employment opportunities.

69. India too has a large longitudinal extent. The difference between the two extreme most

points is ........
(1) 110 /(7)/120
(3) 130 @) 140
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63. ‘BRICS’ a1 sifqwreta duea qeioded! HIom Smar FgWeT ATdr ?
(1) wra (2) e
(3) fa= (4) e

64. 2005 et WA ST SARPT AT AR SFOEHE FAEAT TRATE ABIAA TN s
anfor TS sremer SitS gy i ATHAT R

(1) wfra it 2) . . TE
(3) 2. wewe fim (4) sreafaerd ardt
65. wraren storen fEster el e A @
(1) ¢ (2) afew
(3) =fror (4) 3
66. WA T THOTRT TEH/ S AT,
(1) fe= @ m
(3) =& (4) wst=r
67. mﬁ%u@um'm&nwwﬁrmmﬁémmwwﬂw

(1) WraTH AHEEAT FTE AR (2) wrETHt SEEE FH AR,

(3) wghierdt diwEEAT A IR (4) v T el SAHETAT AN IR
68. arEqFra Hga - Iy fquT Ho| M2 ?

(1) = foremw (2) sera afratfrisoT

(3) when frar () s Wi
69, v s ot @ i o At e A o Rt P o 2

(1) 110 ' (2) 120

(3) 130 , (4) 140
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70. Find out the odd man out from given options.
/{‘r{ Ganga
(2) Sabarmati
(3) Sindhu
(4) Yamuna
71.  Which type of settlement has been found at the uneven topography of Himalaya ?
(1) Nucleated '
(2) Linear
ispersed
(4) Star - Shaped
72. Which one is not the mean of Communication ?
(1) Computer
(2) Mobiles
(3) Internet

_,{@‘cyclopeadia.

73. Identify the correct option from pairs given below

State Travel Place
(A) Maharashtra (I) Udagmandalam
(B) Rajasthan . (IT) Masoori
(C) Uttarakhand (IIT) Aajintha

(D) Tamilnadu (IV) Jaisalmer
-IILB-1V,C-1II,D -1 :

2)A-1IV,B-IILC-1,D-1I
3A-ILB-LC-U,D-1V
AHA-LB-II,C-1V,D-1II
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70.

71.

72.

T,

wetter T e gew ST,

(1) wm

- (2) wrETE

(3) iy
(4) T
(1) @
(2) gt
(3) Frgeeten
(4) aragt _
FENEIE GRTET WA THR FET GSH AE ?
(1) s
(2) wsoreEt
(3) gewe
(4) Tstar
T FSTT FHAAT FHR AT,
T e W

- (3) AR (1) s=eEe

() T (1) =gh
(F) TS (I11) stfsrar
(¥) afwesrg (IV) Sreme
MF-M, -1V, s-1, 8- I
@Qu-IvV,g-llI,s-1,s-1I
Bu-I,s-L=s-1I,s-1V

@w-La-1,%-1V, -1l
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74. Which country do not share their border with Brazil ?

(1) Argentina : Manmar

(3) Peru ‘ (4) French Guiana

75. Identify the correct options of pairs given below.

‘A’ Group ‘B’ Group
(A) Temperate Grasslands (I) Savanna
(B) Thorny Shrubs (II) Amazon River Basin
(C) Tropical Grasslands (IIT) Coatinga

(D) Equatorial forests (VI) Pampas
()A-1,B-ILC-IV,D-TI
()A-1,B-1V,C-1IL,D-1
G)A-UL,B-LC-1,D-IV

@BDA-IV,B-ILC-1,D-1I

76. Which river has been shown with letter ‘A’ in the given outline map of Brazil ?

) Paraguay

(2) Paraniba

(3) Urugway

(4) Purus

77. i is a large coastal island located between the mouﬂls of River Amazon and River

Tocantins.
(1) Sao Francisco : ' Ma;'ajo
(3) Marcos (4) Rio

Nissarss [x[ss]




74. el HiowEr 397 Argitersr TA@TT ATE ?
(1) st (2) =TT
3) ¥ (4) B9 frarn
75. wrg Srewiar quty sies.

W W ww T
(A) FwftateT Taares T297 () Egrn
(B) wr® gedt = (I1) 3frgit =dra @iy
(C) 391 s g3 (111) wfm
(D) frgagita = (V1) dor

()A-LB-ILC-1IV,D-1II
@)A-1,B-1V,C-1I, D -1
(3)A-ILB-L,C-I,D-IV
4)A-1IV,B-NL,C-I,D-1I

76. GiEGE THET ANRESIE A’ AT FATH Freieeer S 6 g 2

(1) Fm
(2) wafar
(3) 3=

(4) =¥

(3) s (4) fert
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78. Identify the correct option of pairs given below

Group ‘A’ Group ‘B’ Group ‘C’

Region Average Rain fall Type of Forest

(A) Giana Highlands (I) 1500 mm (P) Temperate Grasslands
(B) Amazon Basin (II) 600 mm (Q) Deciduous Forests
(C) Paraguay-Parana Basin (11T) 1600 mm (R) Tropical Forests

(D) Brazilian Highland (IV) 2000 mm (S) Equatorial Forests

)l)«vKIII-R,B-IVS,C—I-Q,D-II-P

= (QA-IV-$,B-T1-RC-T-PD-1-0
(3)A-1-PB-11-Q,C-1lI-R,D-IV-S
(4)A-II-Q,B-I-P,C-IV;S,D—III-R

79. Choose the correct option of favaurable factors for highest population density ........

'/(J/}'té;t/iie land - plain lands - availability of water

(2) fertile land - agricultural development - dry desert area
(3) plain lands - development of industry - hilly regions
(4) hilly regions - dense forest area - fertile land.

80. In which district of Meghalaya - the highest rainfall place Mawsynram is situated ?

(1) Garo (2) Jaitiya
(3) Khasi (4) Dispur*f\ ¢
81. Which of the following two linear equations have only one unique solution x = 2 and
Y-y
(1) x+y=-1;2x-3y=-5 (2) 2x+5y=—11;4x+10y =22

(B) 2x=y=1;3x+2y=0 M4y—-14=0;5x—y—~13=0
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78. wTetter STStENT gRY SEdTET 99Uty 3TtesE.

we ‘e Wy ‘@ WY ‘w’

(A) framr =i (1) 1500 frsft (P) wpfrer a3
(B) st = (II) 600 fersit (Q) et =

(C) - e R Wit (I11) 1600 Frsft (R) o1 shewda =
(D) @"@Wﬁ sergta (IV) 2000 frsft (S) frgagsha =

(DA-HI-R,B-IVS,C-1-Q,D-1-P

2)A-IV-S,B-M-R,C-NM-PD-1-Q

3)A-1-PB-1I-Q,C-III-R,D-IV-S

4HA-TT-Q,B-1-PC-IV-S,D-1II-R

79. FIHETHET UHGT ARG HUGTHS! FTAITAST BT GTHET G qqE AR 7

(1) gits i - AFHT F3U - GrOATEr ITTErAr

(2) gt s+ - ot fasrw - ATt wRA
(3) Fart wdyr - g e - shres waa

(4) ehrres w3y - wEE T - i sl

80. waTeETRMiE MfETw ¢ waitrs ggE Remr amfeiet o g s

(1) amat
(3) T

(2) sitferar
(4) Fmg

81. TElede Frowr s g gt ST e 3@ x = 2 i y = -3 IR,

() x+y=-1;2x-3y=-5

(3) 2x—-y=1;3x+2y=0

(2) 2x+5y=-11;4x+10y=22 -

(4) x-4y-14=0;5x-y-13=0
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5
82. If a+pB=-3 and @B = ~ then find the quadratic equation whose roots are a and /3 ?

(1) 2x* ~5x+6=0 () 2x? —6x+5=0 Q@'}
A 23 +63-5=0 _ 4) 2x* -6x-5=0 }
e o B e 3%

. What is the probability of having 53 Thursdays in ordinary year (except leap year) ? %

2 | '
(1) 5 ‘,(;)%/ - rxl-l—%fk_-%:

1 4 L '
(3) 7 ) 7 23,

84. How many natural numbers between 15 to 500 when divided by 6 leave remainder 5 ?

) 80 a8 23 & B4 4% .48

J —
3) 82 4) 83
s ()f-\qr 23 4+ (n-D1

40313 - Gl 2 443 4’??‘

. o | maiom i

= = 55 By s

3 2 : = a7 arq S
85. |3 3| Choose correct alternative for the value of determma'H__“T. ~ ¢

4 2

4%*&3’5—»%—01} - = g
2 ¥H4 <n-) ST
0=

. L=
® A

8
XL
AY -1 — 495"
©) (?) (D) G —_
o -
(1) Aand C /e){,c and D —%:;&-
(3)A;Band C : (4) A, C and D
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82. W a+f=3 1 af=-2 s W o w0 f g sk e G 7
(1) 2x* -5x+6=0 (2) 2x* -6x+5=0
() 2x? +6x-5=0 (@) 2x?-6x-5=0
83. &g af wigA Srorardl autd 53 AR Jvardt wwregar Redr s ¢
2 . 3
M 7 2 3
1 4
= “) 3
84. 15 & 500 zvarren dufie Goaiar 6 3 WEE JWAT AW 5 AWOTAT UFOr WeAT fdr ¢
(1) 80 () 81
3) 82 (4) 83
ﬁ 23,20,
35 4| . 445
37 4as
33 B :
85. 13 3 a1 Prgasren fEadaet o g waig e
42 13+ (n-"N)C =z
(h—l‘)G :915?3
G ' = 6
(1) 3 : (=) Y
Aty
Y 4 | -&
(%) [?J (®) %r_SIZ 4q?_
all b 13
S
BEEE] (2)a,ara3. @’J m__—%}—_
OEREE: | (OEA LS A% ke
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86.

87.

88.

89.

90.

If roots of the quadratic equation 34,2 4+ 2px + ¢ = 0 are in the ratio 2 : 3 then which of the

following statement is true ?

£ =al
' 3
(1) 8ac=25b (2) 8ac =9p* ap - 2
e 3
() 8% =9ac (4) 86 =25ac cEaeg _z:bL
In Arithmetic Progression there are n terms (n is odd) and middle term is m then what is
Sn=7? : C» 2a b'?-
ol ‘= A&
e = e _ X= 2 ;
a) = Q) mn B .éb
(3) 2mn (4) 'mn? 3q, 2b =%
3a

5
If N=70,h=10,c.f.=22, f =10, L =30 then using this information find median ? 20 =C

il ' () 45

(3) 43 (4) 34

Two dice are rolled simultaneously. what is the probability of getting sum of the digits on

the upper face as a prime number ? C ,1__,3_6_61
: ]

PR R e T

2 | 5-
@) 36 (S’Aj?’ /(23/]‘5 vy A XY L8, 2,S,t
(J::e‘}o/' K, 14 3+ B3 , 4, %,5,3
kg \Z- 1 A A1 4,%,4/9 4,5 <
®) 15 @ 35 it S CsSy

G\ €k €;5i678:. 6.5 ¢

The number formed when 5 is subtracted after multiplying by 8 to the sum of digits of a two
digit number is equal to the number formed when 3 is added after multiplying by 16 to the
difference of digits in a number. what is the number ?

(1) 83 M 3 (C)t.'\' ‘-j ) o =+ (- "ﬁ)
-%x.’.%&—s-:%—ﬂsx-\ﬁ

@ ;
(3) 85 (4) 78 o Sos ko)

TS- L g
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86, 32 4 2by s o ( T THEAEOST g U 2 ¢ 3 R AT SIEEER S R a2
(1) 8ac=25b 2) 8ac = 95>

(3) 8b2 =9ac (4) 8»% =25ac

87. e srmhTi SE n 9% A (n @ REW) ST 4N WU R m ST A Sdwd
Sn = fpdt ? ' 3

L+p =2h
mn 3Q'

(1)7 ?;,B""P:'Q;b (2) mn
3 3a

(3) 2mn ‘SB’ =-10b 4) mn?

S0 -

88. sw N=70,h=10,c.f.=22, f=10, L =30 &% zar wfecdteq smur qeqeprdt fFaa @t 2

(1) 42 (2) 45
(3) 43 (4) 34

89. =i I W ¥ T T, TEWAITSY JoTar Wt I qos W sweardt G R 2
o 3
(M) 3¢ ; @

s o)
®) 18 ()36

90. ﬁwﬁ#@mm&ﬁmsﬁqﬂﬁawSmﬁmﬁmﬁmﬁmm
sire TomETEE 16 3 o @ 3 fremm @ @ @ @ e s

1) 83 (2) 84
) f}-t ‘j} = \-r?,x—uj)
(3) 85 4) 78

?)%-x‘-“-\
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91. In the adjoining figure A4BC is a right angled triangle. Point D is the midpoint of hypotenuse
AC. Segment pg | side BC. mZABD = 70° then find m/CDE - mz/DBE = ?
A

20

(1) 70° 2) 200

- M @) 30°

92. Observe the adjoing figure. From the given information the perimeter of the triangle is given
below. Choose the correct alternative. ¢

BC -1
| 1203 =
(gyfrz?\/h 6\/5) Be= Glg_
& 4 |
e
() (6v3 +1242) c((,'\_r% = \gN2 G
- &
(©) (18+6V3)2
(D) (18+6J€)J§
(1)Aand B u‘aﬁc
(3)Cand D . (4) only D =

INTS-SAT-18 | X |5 | - [[_400r48]



91. smEAEE A4BC WW'WWDﬁmACmﬂmﬁgw.w DE | & BC
T m/ABD =70° 3. @ m/CDE — ZDBE = &t ¢
A,

(1) 70° \ (2) 20°
(3) 50° ' ) 300

92. AABC Wt Redwar RdET AMBC T TRPEEE et Rt St st adee s ¢

(A) (13J§+6JE)
) (6v3 +12v2)
©) (18+6V3)42

(D) (18+ 6J€) 2

()ATB (AzC

3)CaD ~ @wmD
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93. Read the following statements carefully and choose the correct alternative.

(A) The ratio of the circumference of a circle to its diameter is denoted by the Greek

letter 7 . 2 1 er

: 22
(B) = is non - terminating, recurring decimal fraction and its exact value is -7— »= ‘“7— "
Alternatives :
(1) Statements A and B false (2) Statement A and B correct

mment A correct but B false. (4) Statement A false but B correct

94. Read the following statement carefully and choose the correct alternative.

X3 =X
Ya=n'

(A) The slope of the line parallel to X - axis can be derived by the formula

(B) The slope of the line parallel to Y - axis is 1

b o ; : . B Lt :
(C) The cotangent ratio of an angle made by the line with the positive direction of X - axis
is called the slope of that line.

1-(%5 The slope of the line which makes acute angle with X - axis is less than zero and the
\ slop of the line making obtuse angle with X - axis is greater than zero.

Altemative :
(1) Statement A and B correct ¥ (2) Statement C and D correct @

(3) only statement C is wrong\f\ Vm statements are wrong

95. In the adjoing figure ray BD bisects #/4BC of A4BC seg ED|| side BC ,;/4ED = 40°

and ,/BDC =110° then find the measurments of ,Epp and /DCB respectively. Choose
the correct alternative from the following.

M" and 50°

(2) 50° and 20°

(3) 40° and 50°
(4) 40° and 70°

iNTS-SAT—lB i X I S5 l . . fz-lofﬁ




93. wTe fader fauratar Raw se9 s g ugty Fasn

94.

(31) THTT gemar GG T W I OIET w () T AE IR Ssifaar.

L |

22
(a)n%mmmmwm%m%% (»’?:7] 3T,
Tty
.(l)fﬁmaxsrrfﬁrirqai (2) faen=r 31 snfor 9 S9ER
(3)Faawaraﬂa1wiqsrqa:‘ (4) fum o 9% T @ TR

=n

(A) X — 31g7ren wHiaT W1 9 I FIA HRA.

(B) Y — sterra wiaT Yot 9 1 swar
(C) T3 X — wigram w Redbeft ey T #ore (cotangent) TR T T YT g e,
(D) X — weameft AgF= FOAT WAT T@ YN FEH A WATEHF FOMGT WA q@ YA

HiaT .
(1) R A @ B @ (2) frars C & D s
(3) v faum C 9% sme. (4) o e g% sTEe

| 95. -WWBDH AABC S &H yp =1 g 3R, 1 ED|| &g BC snfr ,, 2 4ED = 40°

T BDC =110° 38 & LEDB T /DCB t 31 %% ATd SOH! 3T ?

(1) 20° T 50°

(2) 50° 7 20°

(3) 40° T 50°

(4) 40° T 70°

NTS-SAT-18 [ X S5 |



96. In APOR M/R=90°, M£P=30° PO =+/13.From the given information find the value

of cosec60” —sec60® ?

97. In right angléd triangle 4ABC MsB=90" AABC is in the first and second quadrant on

the graph paper. The co-ordinater of the points A and C are (2, 5) and (-2, 3) respectively.
Find the possible pairs of co-ordinates of point B from the following alternatives(2., )
_ -

2, r),
(1) (-2, 5) or (2, 3) e

(2) 5, -2) or (3, 2)

(3) (2,2 or (5, 3) C-2i%)
_WG, 2 o 5,3) > S 4223

98. Choose the correct figure that has all the following properties.

Bl
4 2

(A) Both the diagonals are congraent

(B) It is called as rectangle

(C) The perimeter of the figure is four times Iits length or breadth
(D) It is a rhombus

(1) Rhombus (2) Rectangle

(3) Trapezium Mm

[NTS-SAT-18 [ X [S5 |




96. frwor PQR w9 m/R =90, meP =300 anfor po=\13 & 2. Tecieur i
cosec60” —sec60?  fEwa Tt ager 2

fm

R gy

97. wEHE BEN ABC TH /B =90° B AABC mwﬁamuﬁw&w

=T ATt SR, fag A @ C 2 Frders srsH (2, 5) T (-2, 3) st &< fag B = frdersrenn
WIS S B TATATG .

(1) (2, 5) & (2, 3)
(2) (5, -2) e (3, 2) ,
3) (-2, 2) fFar (5, 3)
@) Q) Fn(s3)
98. T3 Pestear wd TS AT S e,
(A) @@= Fr=8t mm AT,
(B) @it e AHE U
(C) et wRfidt widt frar wdten =wae I,
(D) @ magS drHr I
(1) T ST e (2) smaa
(3) wHetE HHA (4) drwm
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99.

Vi 4 i
o R @

8 %

% %-"'i D

In the figure. semi-circles are drawn whose centre are X, Y, Z respectively. Points
(X, Y, Z); are collinear points (X - Y - Z) AX = 2.5, BY = 6.5, CZ =85 and AP+ QC
= 16; QC + CR = 27 and CR + AP = 19 then find the value of AP + PB + BQ + QC + CR

+RD =?
(1) 37
(2) 41
3) 53
(4) 47

100.

pp"‘-k PR~ ¥ 53
R+ Q% 2 1CQ

In the figure PQRS is a cyclic quadrilateral.

72
If the area of the shaded part is = 4 units

then find the radius of the circle.

I @I.L -al= _71__7:
2
arl atrit g
. 8 +
Vo ar1Y =31
(1) /7 units __Q’ ey
- Haioi s
(2) 4 units g 4_0?, 3
: 1l
(3) 3 units 5 __A_Q,CL T -
¥
(4) 2 units 2 ' i
: T L-T\' .—{} e
A& 2
229
1 - SR A
4o 3% 13 %4
-+
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99.

TX,Y,ZWMWWW.%{X,Y,ZWW. X-Y-2)
=25 BY=657CZ=85 sufor AP+ QC=16;QC + CR =27 ¥ CR+ AP = 19
e a AP+ PB + BQ + QC + CR + RD = f&et ¢

(1) 37
@) 41
(3) 53
(@) 47

100. FFaEd  PORS & 9@ 9w Irafyen R s

; 72
W&awmr%&hw—i- WA AW, agemEr
Pt 2

47 of 48
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